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FR23E 128108 8IE

BIEFERI 1 Sv/h]

BIEFERI 1 Sv/h]

AE mEng 5 | B: | B i ME mEng = | mE | B %
Hh S e =1 H#h 5 =X =X =X
100cm 50cm 5cm 100cm 50cm 5cm
1 [UFE(T—ILE) 0.08 0.09 0.11 21
2 |HEFH(T—ILEE) 0.09 0.09 0.11 22
3 [ZLAR—EMET 0.06 0.10 0.22 23
4 |UFiET—LA) 0.07 0.08 0.10 24
5 (e 0.07 0.07 0.07 25
6 |FAKH(T—ILE) 0.06 0.07 0.07 26
7 |MAKH(T—ILE) 0.06 0.07 0.06 27
8 MM (YT ILTLE) | 010 0.10 0.09 28
9 (UFB(CYUTILD L) 0.09 0.10 0.12 29
10 |HE# (B15E) 0.09 0.08 0.09 30
11 =& (kadt) 0.08 0.09 0.10 31
12 |EREHR 0.07 0.07 0.10 32
13 |#E# (EEFTL) 0.08 0.07 0.08 33
14 |UFE(RB—T®) 0.08 0.09 0.13 34
15 |4 (B&4) 0.09 0.08 0.09 35
16 |FK#(E&EAL) 0.08 0.08 0.08 36
17 |u=i& (EREIL) 0.09 0.09 0.10 37
18 |#E# (BEEAL) 0.10 0.11 0.11 38
19 [T 0.06 0.07 0.08 39
20 |Rbi5 0.09 0.09 0.10 40
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